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SCHOLARS ACADEMY

1.

a)
Q

a)

REASONING ]

TR BR A 119 3R T BR | 164 VM R 37 8|
gfg Mt R & o | 9% ”F w® I8 3, @ 9@
Fiford o a1 & g 3R fra= aafaad 93 &2

Hari is sitting 11th from the left end and 16th from
the right end. Find how many persons are sitting to
the right of Gita if she is sitting 4th to the right of
Hari?

11 b) 12

13 d) 14

T YT $is 49T A 'WHITE' &I '260° & *9 A
Fifsa far SaT § SR 'BROWN' &Y 288" & ¥U |
Hifsa fobar omar B, @ TUE UTeT § OLIVE' @Y e
TPR Difsd fbar smgam

In a certain code language, 'WHITE' is coded as
'260' and 'BROWN' is coded as '288'. How will
'OLIVE' be coded in that language?

252 b) 301
247 d) 198

Frafifed oy & IR domg § 7€ 3 fd 4 @9
5t voR | T wuE 7 ok TP i 31 3w wen
T 999 B o a7

In the following question, four numbers have been
given, out of which three are alike in some manner
and one is different. Select the number that is
different.
22,11, 121

24,12, 144

b) 32,16, 256
d) 6, 3,27

DY

Tt gems, jewels %
PO rocks, stones g
ot stones, gems %

I: PO jewels, stones %

1l: $B rocks, gems %

m: g+t jewels, stones %

Read the given statements and conclusions
carefully. Assuming the information given in the
statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.

Statements:

All gems are jewels.

Some rocks are stones

All stones are gems

a)

Q)

a)

Q)

a)
9)

a)

Conclusions:

I: Some jewels are stones
Il: Some rocks are gems
11l All jewels are stones

Fad ey | 3R Il b) Pad FAsEY 11 SR
U B & Only ST A & Only

conclusion | and Il follow conclusion Il and IlI follow

Faa Ay | R i d) By |, 1 SR gt

RU FRd & Only SR A & Al

conclusion | and Il follow conclusions |, Il and 1l
follow

% i3 ge utar 4-

M#N®BTAHfE'M, NBI T8 ="
M&NBTAIE'M,NBTTIE'|

M * N BT 3F§'M, N BT IR 7|
M@NBTJfg'M, NS AT e’ |
TEQe@eA&V*B@U#L&AR AU, Q3 fFa
In a certain code language -

M # N means 'M is the sister of N'.

M & N means 'M is the son of N'.

M * N means 'M is the father-in-law of N'.

M @ N means 'M is the mother of N'.
fFfQ@A&&V*B@U#L &A, then how is U related
to Q?

UelSIT/HISTT Nephew b) TIAI/AKIT Grandson
Oicfl/Arfa= Granddaughter d) fuffea &Y foran S wewar

Cannot be determined

225° qrTad SR R 90° gférumad guTT 9 R B
W fywer smpfa i 715 vy snpfa & afvora itz
Which of the option figure when rotated 225°
anticlockwise and then 90° clockwise will result in
the given question figure?

v b) 1l

I d) 1

U gied & oY fRufa g=ife me &1 sty &1 @ s
TR g8 f5a yor fearg am

Two orientations of the same box are shown. How
will this box look when unfolded?

I b) 1l
1 d) vV

39 U T H S a1 fAdew 1 999 i =
TH g A I UPR Wafta o yer e fean
T UG g e fd g1

Select the option which shows the term pair which
is related to each other in the same way as the term
pair given below.

33:1056
17 :453 b) 54:1134
45:1980 d) 29:870

fou o uy A &9 srgR-wyE A A it wvoR A T
THM ¢ | 3T DT TaT BIog|
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SCHOLARS ACADEMY

a)
Q

11.

Q

12.

a)
Q

13.

a)
Q

14.

a)
Q

In the given question, three letter-clusters are alike
in some manner. Spot the odd one out.

EDI b) POU
vuz d) JIN

fawer spfadt (1), (), () a1 (V) & J I HTA BT
T R @ 7E sy siafifRa 31 (gofa #

Select option figure (1), (1), (1ll) or (IV) in which the
given figure is embedded. (rotation is not allowed)
1 b) Il

I d) Iv

faw g THfieRur 3t W TR F R fae 91 sl &)
AT H FEa1 AT A2

Which two signs should be interchanged to make
the given equation correct?

2x13+45+9-6=19

x 3R - xand - b) + 3R - +and -
+ 3R x + and x d)—xﬁ?+—and+
39 98t fawew &1 79 Fifve oY Ry U vl #t

TR B TP aTfb s 3R rfqufl wu & g=ifar 31

1) TR=dg

2) Xeq

3) quf

4) ™

5) dTRI

Select the correct option that indicates the
arrangement of the given words in a logical and
meaningful order.
1) Paragraph

2) Words

3) Alphabets

4) Chapter

5) Sentence
2,1,3,54
4,1,3,52

Frafafaa o A vy fag (2) F A W) Hi4-91 guf
S{TET?

Which letter will replace the question mark (?) in
the following series?

H KO T, WA,?

C b) F

H d G

S fdeeu smepfa o1 7= P ot sifaw snepfa &
QA gU URY B! Fad e T giidt g, o g3
§U B B HIe W1 & a1P B gl 21

Choose the option figure that would most closely
resemble the unfolded form of the last figure which
shows the manner in which the folded paper has
been cut.

I b) Il
I d) v

b) 45213
d) 3,25 1,4

15.

Q)

16.

a)
Q)

17.

a)

18.

a)
Q)

19.

a)
9)

20.

o v faweul & & 39 SH&R-TYZ BT 94 BIT oI
Frafafea s@ear & vy RE o) @ ufowifig &=
HHaT gl

Select the letter-cluster from among the given
options that can replace the question mark (?) in the
following series.

? ,VLFS, YPKY, BTPE, EXUK

SHAM b) SIAM

SJBN d) SGZL

I A B P T 1/5d1 34T, 9% B $! BHd &
2/59 o= | 30 TR 34 B1 a%g A B 5 =T 3R
TE] B Pt 2 TBT B o P 180 YU g1 aXI A Pt
B T BT

One-fifth of price of article A is more than two-fifth
of price of article B by Rs.30. Total price of 5
number of article A and 2 number of article B is
Rs.180. Find the price of article A.

45 3T Rs.45 b) 55%TY Rs.55
40 YT Rs.40 d) 50 ¥TY Rs.50

I faweu o1 99+ FIfTE ol uradl S § St yaR
2 3R T e, S We & Hefta 7

Select the option that is related to the fifth number
in the same way as the second number is related to
the first number and the fourth number is related to
the third number.

-17:204 ::23:-276::21:?

-232 b) 254

-252 d) 272

fou T il & ¥ I = &1 Ig9 FIE o
Fafafea @ o uy i ) F fornfia &%
HHel g1

Select the number from among the given options
that can replace the question mark (?) in the
following series.

18, 48, 36, 192,72, ?

768 b) 576

672 d) 758

i '@ @1 4d WS, ‘% b1 o um, ¢ BT A
YTT IR # B1 Y "era 3, @) Fafafaa e a1
I F1d SIfeTU

If '@ means 'addition’, ‘%’ means 'multiplication’,
'$' means ‘division' and '# means ‘subtraction’,
then find the value of the following expression.

56 %2 @ 183 $3#120

87 b) 62

48 d) 53

ue fAf3a |tar #, SITUATED &Y AEIUDSTT & +=0 #
HIfSd fHaT SITaT &1 IH YINT § ESTLABLISHED &1
g yeR Sifsa far smem
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SCHOLARS ACADEMY

In a certain language, SITUATED is coded as

[ GENERAL AWARENESS ]

a)

21.

a)
Q

22.

Q

23.

a)
Q

25.

a)
Q)

AEIUDSTT. How will ESTLABLISHED be coded in that
language?

AEEIBDLHLSTS
AEEIBDLLHSST

b) AEEIBDHLLSST
d) AEEIBSLLSHST

39 fwed &1 79 PR & i T 3 A 1R
Haftra § for TeR g1 Y, Usd g & Wafla 71
Select the option that is related to the third word in
the same way as the second word is related to the
first word.

Toddler: Adult :: Larva : ?

Leaf b) Butterfly
d) Egg

I AP T TG B il (9 pfa e & amt
et

Select the figure that will come next in the
following figure series.

[ b) 1l

1 d) v

Cocoon

A9 & 3¢-FId 3R Ft 9fR Fox o8 A1
TRT & e 915 3R 931 §1 FHa 3R A1 & dia
g&h%awm%am?.l Hg, 91 & Frecwy a1 ok
|

1 b &TE 3R I WM W I 33782

Five people Balu, Nina, Komal, Tara, and Chandu
were seated around a circular table facing inwards.
Nina is seated to the immediate left of Tara. Only
one person is seated between Komal and Nina.
Chandu is seated to the immediate left of Balu.

Who is seated third to the right of Balu?

dRT Tara b) PHA Komal
T Nina d) dgChandu

gfe B3 AT IHAR A URY giaT 8, @ FHH ugA
B 27 ARG H HIF-1 & gFm?

If a month starts on a Friday, then which day will be
on the 27th of the same month?

T¥AR Thursday b) WHIR Monday

HITAAR Tuesday d) dYUdR Wednesday

7o FAfYd Pe T A NOT ST K - LR - W & U H
HIS T FTaT § IR WIN S T - FL- Q & &9 &
FIfSa a1 1T 81 W9 $IS WINT § GUM FT B
T gRIm?

In a certain code language, NOT is coded as K - LR -
W, WIN is coded T - FL- Q . What will be the code of
GUM in the same code language?

D-RX-P b) D-SX-R

C-RX-S d H-RY-L

26.

a)
Q)

27.

a)
Q)

28.

fFrafafea 3 @ -t 7dt §F urrel =51 R wrm &
HTH & T 72

Which of the following rivers is formed by the
confluence of two streams, Chandra and Bhaga?

98T Nubra b) RI® Shyok

dl Ravi d) Y1 Chenab

T 1 B TG 1A gAfea i ok R g e Hs

¥ SR gu.

1 (faerfE) | =t )
I-faeifiqE  |i-Pgg
II- faeTft@ B1 | ii- ol & TR @1 da
- fgea= A |iii- Gerg g
V- faeiq D | iv- HeX

wle:

NINITNY

Match List | with List Il and select answer from the
codes given below.

List | (Vitamin) | List Il (Sources)
I- Vitamin E I- Pumpkin
Il- Vitamin B1 | ii- Fish liver oil
- Vitamin A | 1i- Lettuce
V- Vitamin D |iv- Peas
Codes:
Himuwv
i; iy iy iv b) iv; ii; iii; i
jii; iv; i i d) ii; iy iv; i

T 1 F 1 F Ty AR Fifvw ik =R few
Pe A IW BT I P |

Tt | (Wi T | 9= 0 (s 3FTE)

| S (force) i, dfeaq

IRGIEEIE] i Fos

1. fEgga mdw i FgeA

V. 9IfdT (Power) | iv. 1€
PV

Match List | with List Il and select the answer from
the codes given below.
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SCHOLARS ACADEMY

Q

29.

a)
Q

31.

a)

Q

32.

a)
Q

33.

a)

Q

34.

List I (Physical Quantities) | List Il (Sl Units)
|. Force i. Kelvin
Il. Temperature Ii. Coulomb
Ill. Electric Charge li. Newton
IV. Power iv. Watt
Codes: 1111V
iii, i, 1i, iv b) i, iii, i, iv
iv, i, i, ii d) i, iii, iv, i
T 8 # gFar & wed SA1s aTd W WA BT
yAfafor et forar wan 82

Where has the world's highest weather station been
renovated recently?

O¥e  TARE  Mount b) HT-SIT Kangchenjunga
Everest

@I Lhotse d) THTY Makalu
g F T ford &1 919 dgad BAUfA
TUSIR' & [T g I R srgaama ol
Recently, a district of Maharashtra has been

renamed as “Chhatrapati Sambhajinagar’. The

original name of the district was .

SHATETG Osmanabad b) 3RS & Aurangabad
SEHGTR Ahmednagar  d) ITIRE Washim
T BT & T § "SRR S A2

Who were 'Khwajasara' in the context of Mughal
period?

3 @g REGR Ul They b) d TaM YHF A1 They
were miniature painters. were slave eunuchs.

3 yiffe fagm A1 They d) I Afear af@a®r A1 They

were religious scholars. were female writers.

rgrsd Ft Fufafad § & o9 @ wwa Wea waro
# Heg Bl 82

Which of the following layers of atmosphere helps
in radio transmissions?

sfedsd Exosphere b) HHAU HSd Stratosphere
EIR)| dgHSd d) HHHSA Mesosphere
Thermosphere

HEPTpH___ TH W ardl &1 &1 (TY f5P) g& &
ST g |
Tooth decay starts when the pH of the mouth is

7.5 ¥ YD higher than b) 7.5 Y HH lower than 7.5
75

55 9§ 3ffd higher than d) 5.5 I &H lower than 5.5
5.5

qd BT TG BT B § &) AMAR W Wi
7§ Hielg 781 81 Fobar @ 3R 3 |t vrrafe
T[oit Y ST TGl B |

a)

35.

a)

Q)

36.

a)

Q)

39.

a)

is the smallest particle of the element that
cannot usually exist independently and retain all its
chemical properties.

UIHTY Atom
31T lon

b) 3T Molecule
d) Il Proton

WPR $t Afad t Wi v & forg d@fqum grr
YT AT HEH AT AP 3-

The most common way adopted by the
constitutions to limit the power of government is

Hiferes ISR b) o7 Hifd F PR Rrgia
Fundamental rights. Directive  Principles  of
State Policy.

vfeqai &1 fAUSE d) SR Ft At Policies

Division of Powers. of the Governments.

AT Tl 3R T FT gd WEId bel AT
forar wirar 32

Qutub Festival of Classical Music and Dance is held

in
faett Delhi b) T8 Mumbai
ST Bengaluru d) PIADIA Kolkata

fofafead & ¥ o9 4as & Aeer 99 &
HETAETed & SRS 62

Who among the following is the founder of Nalanda
Nritya Kala Mahavidyalay in Mumbai?

M ST Gauri Jog b) HfddT AR Savitha Sastry
Hb Yo Kanak Rele d) Hfed HigH Mukti Mohan

dgEE ¥ fim SwRerdt dIgm/aiRe™

TR

A ribosome is the cellular machinery responsible

for .

UIEH =AW Protein b) ged H Iad/ERR P U0

synthesis PRAT Pumping blood into
heart

UISF & URH Digestion d) YRR &1 ATUHM ST 3@

of food CIY Maintaining body
temperature

9% HERTY & TH GAIS YURS SR ahardt &1 35
TS GUR & e IR Abigddrdt & U | Uh
TTETR® TUTHR & fore feram oik uer ararfe® fRag
#1 w1 W A1 Fufafea § & faer el Sw
foram T 2

He was a social reformer and rationalist from
Maharashtra. He wrote for a weekly Prabhakar
under the pen name of Lokahitawadi on social
reform issues and also founded a weekly Hitechhu.
Who among the following is described above?

R d% IR Ishwar b) SAIfAsT B Jyotiba Phule
Chandra Vidyasagar

Mord gR SRE Gopal d) U@ $WT TG Gopal

Hari Deshmukh Krishna Gokhale
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SCHOLARS ACADEMY

40.

a)
Q

41.

a)

Q

42.

43.

a)

Q

44,

a)
Q

45.

a)
Q

46.

YR AT 3 W) qRem | I 9 $9 &
ford {59 I & WY TH AHGIAT JIUT W FHIER
g e

Indian Navy has signed an MoU with which country
for information sharing in maritime security?

I Seychelles b) HARMET Malaysia

GBI Sri Lanka d) AM™T Mauritius
ﬁw%iagw, Peadfafgom & R
SIGLIG

Vizhinjam in Thiruvananthapuram, Kerala is known
for

AT 3ol wave energy

b) TAfSSelt  FHef  hydel
energy
Yy - g el d) REM S nuclear

geothermal energy

frafafea & @ fea 1866 # $we $fear waiRez™
31 73 foar U
Who among the following organised the East India

Association in 1866?

IS AT I Raja b) RMR $AR 99 Sisir

energy

Rammohan Roy kumar Gosh
EZUCRI Fgdl d) GRS ARSI Dadabhai
Pherozshah Mehta Naoroji

Frafafea & 9 fa Tz sfifas 3 yRdlg R
W $ U U & THIUSR S THT B e
Which of the following charter acts terminated the
East India company's monopoly over Indian trade ?
fca sfearuae 1784 Pitts b) @R RFTH 1813
India act 1784 Charter act 1813

aqR RFEE 1833 d) 1858 HT A The act
Charter act 1833 of 1858

fafta w1 W faftrs yenfot & Swfr faawo a1
T HET 14T 52

Vertical distribution of different species occupying
different levels is called as
gad¥YT Arrangements
faumitesRor

Compartmentalisation

Frafafed # 4 ®19 91 AR furerd § 7R ST g2
Which among the following festival is celebrated in
Meghalaya?

E@‘B?\‘:I—d Bundi Utsav b) U 3&d Rann Utsav
giTer  Aglad Wangala d) Y&hY TEld  Pushkar

Festival Festival

AT HEANT WA (sco) & fagw #hal ot dow
Hgi smaifora o Wit

Where was the meeting of Foreign Ministers of
Shanghai Cooperation Organization (SCO) held?

TSRId Gujarat b) HERIY Maharashtra
T Goa d) faeeft Delhi

b) IRfAAMN Stratification
d) fa9d Divergence

47.

a)

Q)

48.

a)

49.

9)

50.

a)

Q)

51.

g Y-IrEafae 9% & def A Frafafaa syt «1
ufeu 3R WEl IR gl

1) 9T YIRS Th YD Tb & Afddb, Yagr-s
3R Iarafe uggsi @) gfar 21

Il) 916 T 3R P I $B TIE 9d YD
TP B

Read the following statements with reference to the
Biogeochemical cycle and choose the correct
answer.

I)Biogeochemical cycle represents the biological,
geological, and chemical aspects of each cycle.
I)Water Cycle, Carbon Cycle are few major
biogeochemical cycles.

| I B AT 1| A B | b) | 3 § A 1| TA |
is true but Il is false is false but Il is true

| G § SR I FA G 1 is d) | S 8 3R 1l A ¢ |
true and Il is true is false and Il is false

U &1 FufifEad & ¥ 919 91 gwe Iy B
ARIR®T & WIS 3R AMee U | fUreg ot $i
Jafa & fore #1% IRy wrau™ = @t srguafa dar @2
Which of the following articles of the constitution
permits the State to make any special provision for
the advancement of any socially and educationally
backward classes of citizens?

3THE 12 Article 12 b) 3J=9a 13 Article 13
3G 14 Article 14 d) =G 15 Article 15

gfe URdg Red % 9% @ § gfg ®ear g, o

?ﬁﬁ@aﬁﬁﬁﬂ-@ﬁ@rﬁr?ﬁmﬁﬁaﬁﬁm
?

Which of the following is likely to occur if the
Reserve bank of India increases the Bank Rate?

NS dHT gRT SYR b) oA MU & FH FHAT

o Pt arg | q@ gl Reduces the supply of
Increases the cost of money

borrowing by commercial

banks

RBI @1 &l ifd BT FSR d) ITgad T All the above
ST shows tightening of
RBI monetary policy

ST &1 I o1 Swiwfedthy aufa g1
is the largest tropical rainforest in the world.

Uiyl 9 99 Western b) Javed I Sundarbans
Ghat Forest Forest

399 99 Amazon Forest d) @17l a9 Congo Forest

[ QUANTITATIVE APTITUDE ]

TSP 3ATId BT URATY T qif & GRHATT BT 66 (2/3)% @
3R 3mad P dars ¥ B YT F 20% HRF 71 Al
gmaﬁiﬁs'rs‘nﬁtﬁ%,?ﬁmmamﬁﬁm
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SCHOLARS ACADEMY

a)
Q

52.

a)
Q

54.

a)
Q

55.

a)
Q

56.

The perimeter of a rectangle is 66 (%:)% of the
perimeter of a square and length of the rectangle is
20% more than the side of the square. If breadth of
the rectangle is 27 cm, then what is the area of

rectangle?
6163 97 JH 6163 cm? b) 6652 T JHT 6652 cm?
6753 A AH 6753 cm®  d) 6561 T T 6561 cm?

&t ¢ amepfa W faaR g, g 0 g0 #1 d @ 8k
£ DAB = 40° §1 af¢ AB, CD & HHITR §, @ 2 CED &1
AT fEam grm?

Consider the given figure, O is the centre of the
circle and 2 DAB = 40°. If AB is parallel to CD, then
measure of 2 CED.

110° b) 130°
120° d) 100°

% AR SR F 40 km/h F1 190 3 4 I FHar
8, S15F & 30 km/h BT 1 | 2 U ITAT HaT § 3R
7 ¥ 80 km/h 1 AT | 5 U YA HaT 81 §H AT
& fore St 3fwa ara foait 82

A person travels in a car at 40 km/h for 3 hours, on
a bike at 30 km/h for 2 hours, and in train at 80
km/h for 5 hours. What is the average speed at
which he travelled?

56 km/h
62 km/h

b) 60 km/h
d) 58 km/h

20% Jigdl aTd H2504 & 100 ml WA B 50% Tigdl
ard x ml e & 39 yeR fiem war @ % 3=
fyyor & wigar 9w 30% B x 1 AA FAuiRa
HifoTg|

A 100 ml solution of H>SO4 having concentration of
20% is mixed with a 50% concentrated x ml mixture
such that the net mixture is 30% concentrated.
Determine x.
70 ml

60 ml

b) 80 ml
d) 50 ml

T wEmait & &t BT 3uTd (1/4) : (1/7) : (1/5) Bl
g 19 T=A3Hl BT GRTHd 166 1 5 9 J@3 BT
YA FHTIGH (LCM) FTd BT

The ratio between three numbers is ( 1/4) : (1/7) : (
1/5). The sum of these three numbers is 166. Find
the LCM of these three numbers.

210 b) 280
392 d) 224

fFafafee arR-aw v fafie @ret & geul aun
ufgarsit @1 o T=n &) gidar 3| uaﬁﬂ?wéﬁ%
R 3a®T eFgd® Srrae B |

The following bar graph shows total number of
males and females in five different organisations.
Study it carefully to answer the question.

Q)

57.

a)

58.

a)

9)

MmMale F3Female
7000

5000
6000
w 5000
§ 5000 4500
@ 4000
2 4000
< 3000 3000 3000
T 3000 2500
= 2000
5 2000 1500
=
1000 ﬂlm%
o
A B C D E
Organisations
Tt Tre | frarer uigenst @ $a W= aur
Uul B Ho T=T F S BT 3faR fhan 82

What is the difference between the total number of
females and the total number of males from all the
organisation together?
4500

3000

b) 3500
d) 4000

[T A TP MBI B 12% DI 811 UR 46068 TUY
P! PIUT W AT 18% BT ATY U HI+ & fore I
g Fiua w59 dTAT ERm?

Sofia sold an iPhone at the cost of Rs. 46068 at a
loss of 12%. At what cost will she have to sell it to
get a profit of 18%?
61773 T Rs. 61773

58350 ¥UY Rs. 58350

= fer e wis = &1 wFyd® Srma SRR aur
w4l & W i i e mar g aré 2016-17 A
fafta 3= @ YR oM aral fad=h wes! 1 ufaza
ZfaT 81 2016-2017 ® YR ® wiew! @) $a W@
60 fafera 81

Study the pie chart given below carefully and
answer the questions. Pie chart given below shows
the percentage of overseas tourist traffic from
different countries to India in 2016-17. Total
number of tourists in India in 2016-2017 is 60
millions.

b) 65773 ¥UY Rs. 65773
d) 52350 FTY Rs. 52350

Others

England
30%

gfe a5 71a 8 a¢ 2016-17 A HTST A YRA A ard
qded BT 63% YW 7, dl 9¥ 2016-2017 & URA M
Tl HTSTS Aigen udes fea &7

If it is know that 63% of tourist visiting India in
2016-17 from Canada are male, then how many
female Canadian tourists visit India in 2016-2017 ?

3.33 fAfera= 3.33 million ) 4.89 AT 4.89 million
3 fafera= 3 million d) 3.25 fafera 3.25 million
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59.

a)

60.

a)

61.

a)
9

62.

o UM A G IS A 3R IS B €, gl oo A A @
6/11 T%9 ¢ 3R ¥ Afgant &1 qoul &1 I o7 5/6
IS A TS ¢ el Afgensit #1 W@ &1 3/5 I B
Tew g1 Aol @t $o WBn &1 fHan fid s B
e 7

In a department, there are two grade A and grade B,
where 6/11 of total members are males and rest are
females. 5/6 of the number of males are grade A
members while 3/5 of the number of females are
grade B members. What fraction of total number of
members are grade B members?

44968 b) 44995
45027 d) 45117

Frafafaa oifee x, v, iR z ame &9 senr-ee
Hia # A, B, C, D, 3R E -TTH® UTT 3(THT-3ET axgaii
It Jhias Biaa (3. #) g2iidt 21

Following table shows the listed price (in Rs.) of five
different items named as A, B, C, D, and E in three
different malls named as X, Y, and Z.

ltems | Mall X | Mall'Y | Mall Z

A 1200 (1500 |2500

1000 | 750 1500

800 1000 | 1200

B
c 1400 | 900 1000
D
E

1400 (1500 |2000

are X ® Wt aegent & oira eltas Siva ok dfa v
# it aegelt ¥ oftra Gflas sta & & &1 iR
fpam &2

What is the difference between the average listed
price of all items in Mall X and the average listed
price of all items in mall ¥?

¥.30 Rs.30 b) ¥.20 Rs.20
T. 40 Rs.40 d) ¥.10Rs.10
1 1
k*+—=47 K>+ 2
afe k* g k* 1 7 feae
L
4.1
Kb+ — =47
If Kk , then what is the value
B+t
of k3
45 b) 54
18 d) 9
t
5X=9[(;)+ 1]
2 ARY=5(@1+2)8 Atdrde

I JTd HISTE gl X = 3Y 2

Q)

63.

a)

64.

Q)

65.

a)
9)

67.

a)

5X=9[(£)+ 1]

If and Y = 5 (t + 2), then find the
value of t for which X = 3Y.

2 b) -3

-2 d 1

QA TR p R Q F AMYR & & 7 § 95 M &
IAGT DIV HHI: 45° 3R 60° 1 P 3R Q It HATE
BT AT fbaT 32

Exactly midway between the foot of two towers P
and Q, the angles of elevation of their tops are 45°
and 60° respectively. The ratio of the heights of P
and Qis:

1:+43 b) 3:1

1:3 d) V3:1

g HETe r 3R s BT 17 | il foar simar g, &t
UG HHRT: 7 3R 13 U GAT &1 (r + 5) DT 17 H
favfora w33 W o= Avwea yra grm?

Two numbers r and s are divided by 17, leave
remainders 7 and 13, respectively. What will be the
remainder when (r + s) is divided by 17?

4 b) 3

5 d 2

p8+p?+p?+1

R p=7+aV3d p’ 1AM fraen 22

If p = 7 + 4V3, then what is the value
p®+p®+p? + 1
of p3 ?
2617 b) 2167
2716 d) 2176
fFrafefRaa &1 9 31a Fifee:
Find the value of:
‘|1+1§+(‘|§c:f‘11)><21
2 7 5 4 3

28+i><§+14
3 9 6

107/342
13/114

TP P& & RS BT IR AR Hd 99T TP
faendf & 3@ 57 & VM W 95 F FU H g6l I forg
Y forTd ulkumTeaET S i | 0.95 3t 3fS §51
Ham # foran faemf &2

While preparing the results of English of a class, the
marks of one student got recorded as 95 in place of
57, as a result of which there was an increase in the
average score by 0.95. How many students were
there in the class?

57 b) 37

b) 49/114
d) 1/6
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Q)

68.

Q

69.

a)
Q

70.

a)
Q

71.

a)
Q

72.

45 d) 40

ABC ¥, /B 3R £C & 3fidk® PV JHGUTSH D W
e € 99fF 2B 3R 2C & ITRT BT TAGUTSD E
W fred €1 afe 2A= 60° &, @ 2BDC 3R ~BEC @1
Y HHIT: [T PIOTC

In AABC, internal angle bisectors of B and 2C meet
at D while external angle bisectors of 2B and 4C
meet at E. If ZA= 60°, then find the measures of
<BDC and 2BEC respectively.

120°, 60° b) 60°, 60°

30°,120° d) 75°75°

AR F T TE A A FASA WA A A
76% dIC UTW A aTell TP SWHIGAR 1480 dlc &

ggmﬁgmw%laﬁwaﬁfaﬁwmmﬁ
?

(Fad U GBI R faar $ifvm)

In an election between two candidates, a candidate
who gets 76% of the total votes polled is elected by
a majority of 1480 votes. What is the total number
of votes polled?

(consider integral part only)

2800 b) 1800

2846 d) 1846

13
cosec K =—
In a triangle KLM, 2 M = 90°, if , then
(1-cosK)
find the value of sin L

13
cosec K =—

afe TP Y KLM & 2 M = 90° 3R S
(1 -cos K)
@ sinlL o1 aF ga FiRE

1/13 b) 12/13

25/12 d) 1/12

qIE B G&IdT, NP DI GerdT BT 1/4 YT 1 MP Hrd
BT 2/3 YT 10 G A & THar 1 9% 3R NG TH
ATY HT HId §Y BT BT 75% YT fba- fa=1 & o=
HPd 82

Efficiency of Baku is one-fourth of that of Goku.
Goku can do 2/3rd of the work in 10 days. In how
many days Baku and Goku working together can do
75% of the work?

9 by 7
5 d 11

ADC ¥, YT AD 3¥ AC IR HHL: 3l farg P 3R Q 3@
e 8 f5 PQ, DC » WHFIGR 81 AP = 79, PQ = 8
It 3R DC = 12 Tt B1 PD & aTE @1 AT (@ H)
fam &

In A ADC, P and Q are two points on side AD and AC
respectively, such that PQ is parallel to DC. AP = 7

a)
Q)

75.

Q)

76.

a)

9)

77.

cm, PQ = 8 cm and DC = 12 cm. What is the
measure of the length (in cm) of PD?

45T 45 cm b) 3T 3 cm
3.5 AT 3.5 cm d) 43¥H4cm

ﬁW2cmGﬁTwﬁ1§7cmaﬁwmwaﬁ
|aTS 4 cm, SIS 2 cm 3R HATS 36 cm TN AR
U U ¥ WY TH TIHSR U § g1 A gl
I U & QUf SU QA FE A1 8, 9 UF & oA
R H qf git-

A solid cylinder of radius 2 cm and height 7 cm is
dropped into a cuboidal container of length 4 cm,
breadth 2 cm and height 36 cm, which is partly
filled with water. If the cylinder is completely
submerged in the container, then the rise in water
level of the container is -

9cm b)
11 cm d)

10 cm
12 cm

'CIﬁ 6(sec261° - cot229°) - sec60° + X(sin248° +
3X
sin42°) = 4 B AIXPTHAES:

If 6(sec®61° - cot?29°) - sec60° + X(sin’48° + sin’42°)
3X

= 4 , then the value of X is:
-8 b) -4
-16 d) -12

TP g0 & agui ST &96d 167 cm? g1 Igdfr &
3R fway &7 T WA I AYS &1 awa gid
Fiforg?

The area of the quadrant of a circle is 161 cm®. Find
the area of triangle occupying maximum area inside
the quadrant?
30 cm?

25 cm?

b) 32cm?
d) 21cm?

[ ENGLISH ]

Parts of a sentence are given below in jumbled
order with the first part being fixed. Arrange the
parts in the correct order to form a meaningful
sentence.

A. Rama fought by his

B. in his adventures

C. the giants

D. and was his companion
E. side in the war against
BEDC

DECB

b) CDEB
d) ECDB

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct

Mob. - 01141676717,9312712114
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Q

78.

a)

82.

a)
Q

83.

a)
Q

84.

a) When many employees b) for business reasons, not

order to form a coherent
paragraph.

A. Many mice lived in that grocery shop.

B. There was a grocery shop in a town.

C. The grocer hired a cat to get rid of the mice and
preserve the food.

D. They ate everything and spoiled all the bags and
wasted a lot of food.
CADB

CABD

meaningful and

b) BADC
d) DCBA

Select the option that can be used as a one-word
substitute for the underlined group of words.

After that accident, he was taken to a place where
prisoners are kept.

Godown b) Tank
Jail d) Custody

Select the most appropriate ANTONYM of the given
word.

Tame
Feral b) Immunity
Embellish d) Domestic

Select the most appropriate option to fill in the
blank(s).

I would ____ watch a movie ____go out to party.
Rather, than b) Want, to

Wanting, than to d) Rather. To

Select the most appropriate synonym of the given
word.

Sumptuous
mean b) scant
frugal d) lavish

Select the most appropriate synonym of the given
word.

Aficionado
Rival b) Enthusiast
Critic d) Indifferent

Select the most appropriate ANTONYM of the given
word.

Belligerent
Devious b) Hostile
Peaceable d) Supposedly

The following sentence has been split into three
segments. ldentify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

When many employees were laid off/ for business
reasons, not only the workers/ but also the
supervisor was infuriated.

85.

Q)

86.

a)

87.

Q)

88.

9)

89.

a)

Q)

90.
a)
Q

were laid off only the workers

but also the supervisor d) No error
was infuriated

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

While collaboration is ripe with potential and
can becomes rewarding, it can also be an incredible

burden, ripe with headache and heartache.
Be degrading b) Be incredibly rewarding
d) No

required

Be burdensome improvement

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

These vegetables need to be cooked longer or even
have blanch in boiling water beforehand, but the
baby spinach cooks much faster.

even be blanched b) even during blanch
being d) No

required

even  though
blanching

improvement

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

We need calmness and unity now to keep governing
while a new leader was found.

We need calmness b) and unity now to keep

governing while d) a new leader was found
Select the option that expresses the given sentence
in reported speech.

Nick said to the servant, "Wipe the floor."

Nick ordered the servant b) Nick order to the servant
to wiped the floor. that wiped the flooring.
Nick ordered to the d) Nick ordered the servant
servant that to wipe the to wipe the floor.

floor.

Select the most appropriate meaning of the given
idiom.

Devil's advocate

A person who believes in b) A person who berates the
the rule of chaos and established laws and rules
anarchy

A person who supports d) A person who advocates
an opposing or the devil

unpopular cause

Select the INCORRECTLY spelt word.
b) Acceptable
d) Achieve

Accomodate
Acquire
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91. Select the option that can be used as a one-word 98.
substitute for the given group of words.
A thick, sweet liquid made by dissolving sugar in

Select the most appropriate meaning of the given
idiom.
To read between the lines.

boiling water, often used for preserving fruit. a) To insult or provoke b) To detect the hidden
a) Juice b) Essence someone of power. meaning.
c) Syrup d) Beverage c¢) To understand. d) To desert someone who

is still in difficulties.
92. Select the option that expresses the given sentence

in direct speech. 99. Select the option that expresses the given sentence
He proposed that they should wait for the in active voice.
assignment. The new topic is being taught by Ms Gupta.

a) "We might wait for the b) "We must wait for the a) Ms Gupta was teaching b) Ms Gupta is teaching the
assignment”, he said. assignment”, he said. the new topic. new topic.

c¢) "We should wait for the d) "We can wait for the ¢) Ms Gupta has been d) Ms Gupta teaches the
assignment”, he said. assignment”, he said. teaching the new topic. new topic.

93. (93 - 97 )Directions: In the following passage, some 100. The following sentence has been split into three

words have been deleted. Read the passage
carefully and select the most appropriate option to
fill in each blank.

The discovery of electricity was rather a 1. __ of
inventions that led to the modern-day use of

segments. Identify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

Researchers in Austria recent discovered/ that funny
people, particularly those who enjoy/ dark humour,

electric power. 2. __is the purest and most basic have higher 1Qs than their less funny peers.
form of electricity. It required great effort to bring a) that funny
this 3. __ into everyday use. Here we give you some particularly those who IQs than their less funny
of the most notable names in the 4. __ of how enjoy peers

electricity was harnessed. Benjamin Franklin is 5. ___
with the discovery of electricity through his well-
known experiment of flying a kite during a

people, b) dark humour, have higher

d) Researchers in Austria

recent discovered

c) No error

thunderstorm.
Select the most appropriate option to fill in the
blank No. 1.

a) Chain b) Tyre

c¢) Hook d) Lock

94. Select the most appropriate option to fill in the

blank No. 2.
a) Thundering b) Lightning

c) Corrosion d) Storming

95. Select the most appropriate option to fill in the

blank No. 3.
a) Substitute b) Money
c) Energy d) Invention

96. Select the most appropriate option to fill in the

blank No. 4
a) Knowledge b) Science

¢) Turbulence d) History

97. Select the most appropriate option to fill in the

blank No. 5.
a) Credited b) Occupied
¢) Known d) Targeted
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